It 2 ram water sample has a pH = 5 8, this sampie 1s "

oweakly aodic
sirangly acxdc
weakly basic

nettral

i.
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" Question No. 2

Identify the conjugate base in the following reversible reaction.
HF(aq) + HSO3-(aq) « F-(aq) + HSOs(aq)

© F(aq)
- HF(aq)
-~ HySOs(aq)
- HSO;3-(aq)
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[ The compoumni DEOW

CH3
CH3—C—NH2
H
QO acd
O ester
O ammne
O amde
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S

Question No. 1

e
e

Vhen a system is dl chemicg) €quilibrium

Cam
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Question No. §

Wdenty an wapk, bond

Fhctrons ane shated
frolons ane st
L Wections are ianstemned

Hrotons are gained

—_I_-I"F_-"i'k"'l.'rﬁ ‘-'&F’"‘.‘"
i -
1 RN o
e i g T e RilES |
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 Total questions in exam 40 | Answered 9

Question No. 4

Two mode of any substance contams parlicles?

24
12.044x 10
6.022x 104

24
1.20x 10

’14
3.011x O
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Whats the comoct name of g1 lollowing compoupd?
CH;- CH- CH,

/
Cl

L1

B

i ,‘*\
ey
e

* en
I
e '\r‘t‘\.‘f‘
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| Question No. 8

| B TP SN —— ot e

g, mmar.

' To which farmily does the following organic compound belong?

0
Il
CH;-CH,-C-CH,-CH;
O akohof
C aidenyde
0 ketone
O ether
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Question No. 11

If 2 dran cieaning sclution has a pH = 13, this solution 15

-t Gl e LI =

e b g -
S gy uabl‘.-
s b

weakly basic
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Question No. 10

S— ==

The mokecur formuia for the Nydrocarbon Dutane” i
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Refer to the reaction shown below Removing sulfur dioxade as it is formed will
J0S (o) 1300 (0) et 2SO () 1 21100 (1)
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Quastion No. 18 | - ——

e narme of the chermical compound CooH is

< topper Mydroeade

= Coppesill] Bvdroxate
= Caoper iy droxice
* copperiil) hydroxde
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Identity the Bronsted-Lowry acid in the following reaction.

HO + CO" — HCO, + OH
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Question No. 17

: %
What is the oxidation numberofsulfur in SO, ?

W |
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Question No. 4
A solution is made by dissolving 2.68 mole of KF in enough water to give a final valume of 1030 mL. What is the molarity of the solution?

O 182Mm
| O 260M
' O 0.800M
O 0.125M
N
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Question No. 29

If the [OH] in a blood sample = 1 » 107, the pH of this blood sample is

J pH=1x 107
pH=1x 10"
pH=7

7 pH=-7
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e — e —— e ————— — ¥

I
Question No. 40

et e T e Bk ——

Based on Lewis dot structures, the number of lone pairs of electrons in HCI mofecule is __ pairs,

21
Q2
23

(0,

= R
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Question NO. Zv

What is the [UPAC name for: CH,-CH,-CH,-CH;?

O pentane
' butane
' heptane

' hexane
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Question No. 21

-

- g

Bl

“A syslem at equilibrium tends to maintan equisbrium®, this stalement Is known as

' Avogadro's principle

L) Haber's law

7 The law of chemical equiibrum
' Le Chatelier's principle

-—!- J-h....:.-t.
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3 TN reactn
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A o reacts wih 3 hase o XM 2 saf angd water
W RN react B Ry water

= WA A 3t react o kvm an ¥l and 2 base
17 3.0 3% 3 % react 1o fonm water and a Dirse

Sawe & Next 15, S
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Refer to the eqguilibrium shown below. If the reaction vblmne is increased, thiswill
CHaz (g) + 202 (g) = COZ2 () +2H20 (g)

© shift the reaction to the left

@ shifl the reaction to the right
© cannot be determined, since the temperature is unknown

) have no efifect
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Question No. 12

In the following reaction, what is the effect on the direction of the reaction if more SO,
is added to the reaction mixture?

280, (g) + O, (g) = 2S0; (g)
The equilibrium shifts to produce more products.
The rate of fermation of products is increased

The position of the equiibrium remains unchanged.
The equiibrium shifts to produce more reactants
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Question No. 27

Refer to the equilibrium shown below. Which of the following will shift the reaction to the

nght?
CHy (2) 4 202 () + CO2 (g) + ZH20 (8)
adding excess oxyeen
ivreasing the pressure
remoninz carbon dioxide as soon as it is formed

adding O; and removing CO;

A,Cﬁr}m
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لاكن الاصح هو D فلا تستعجل في الاختيار 


The reaction that requires thermal enerqy 10 proceed s known as reathion.

U oxidation
V- endothermic
< sothermic

< exothermie
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Question No. 36

If the reaction is endothermic, which of the following 15 always true?

- the reaction rate is fast

' the reaction takes in heat
-/ the reaction gives out heat
' the reaction rate is slow
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Question No. 2

Name the following compound:

Z

|

- © 2-methyl-4-ethyl-5-hexyne
O 4-ethyl-2-methyl-5-hexyne
© 3-ethyl-5-methyl-1-hexyne

- O 5.methyl-3-ethyl-1-hexyne
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The name of the chemical compound KNOj is:

O potassium nitrite

O potassium(l) nitrite
- O potassium(l) nitrate
' O potassium nitrate

|

|

[y
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Question No. 1

Express the equilibrium constant for the following reaction.
PCl5 (g) = PCI3 (g) + Cl2 (g)

[PCI3][CI2]
[PCls] 2 7

o

—_
—

e [FCI3]1IClz}3‘
[PCl5]-

- [PCIs]
[PCI3][CI2] {

. [PCI3)[CT)2
~ T [PCls]

— -

a § & ¥ L e
AVE & NMEXT A g s
4 L n— i, 2 B

——— P E—
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Question No. 3

Determine the molecular formula of a compound that has a molar mass of 146 g/inol an
an empirical formula of C3HsO,.

O C3H50,
O CoHy506
© CeHi504
© Cgl100s
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' Question No. 5 o S

e ——

S e —

' What is the name of the following compound?

,.--"""

L 3-methylenechexane
O 3-methyl-3-hexene
' 4.-ethyl-4-hexene

' 3-methyl-2-hexene
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Question No. 6

— e S e el U1 s Wi S ol et A e e S e R 1 W0l | S SRR gl - e — e S T Ko S S

What is the equilibrium constant expression for the following reaction?
4 NH;(g) + 5 O,(g) = 4 NO(g) + 6 H,0(g)

Y Ke=[NH;]'[0,]'/ [NOJ' [H,0]°
' Kc=[NOT' [H,0]/ [NH, ] [0,
© K¢ =[NO][H,0]/ [NH;] [0,]
© K¢ =[NH;][0,]/[NO] [H,0]
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Quéstion No, 7

The IUPAC name of C3Hgis

O propene
propane

ohatyne

Cpropyne
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| Question No. 2

—— e - r ——

i Identify the type of this organic compound:
| 0

“oketlone
aehyde
carboxyhc acwd

- akcohol
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e S ——

Question No. 11

e S ——

s e

To which family does this organic compound belong?
0

OH

-~ ether

- amine

- carboxylic acid
< amide

C
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Question No. 13

Which of the following is a polyalomic ion?

; NB;L
Brl
Nal*

QX
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PO IV Py abovinnvs e there 1y "It
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Question No. 16

Provide the name of the compound below.

- 1,3-dmethylcyclohexane
- 1.2-dimethylhexane
2 _4-dmmethyicyclohexane
Dimethyicyclkohexane

| Scientific Caiculator St /
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| Total questions in exam: 40 | Answered: 3

Question No. 15

CO, acts as a Lewis acid in thereaction CaO(s) + CO, — CaCO,(s) becauseit

O s an electron-pair acceptor
turns blue tmus to red
reacts with a metal

QO 0

ts 2 proton donor
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Question No. 18

| .
. In the reaction below, whatis the theoretical yield in moles for LIOH when 6 grams

. of Li7O react with 7 grams of H,0?
Li;0 + HO — 2LiOH

C 1.0mo!
© 0.4 mol
C 06 mol
© 0.8 mol

Scientffic Caicutator
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E_'Tazl_ questions in exam 40 | Answered: 3

Question No. 19

The number which 1 located on the LEF T of a chemical farmula tha helps to balance a chemical equation i cated

' coethicent
' superscrpt
*exponent

subscript
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Cusstion No. 20

Which of these substances gives a weak electrolyte when dissolved in water?

- ionic salt
-~ strong acid

weak base
- strong base
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Question No. 21 iy

by
it "

Which of the following pairs is NOT a conjugate acid-base pa'if'ét:tu_rding to the cbnt—:ep'l of Bronsted-Lowry?
|
I

© H,POs and HPO42-

© H3PO, and HPOS

© H3PO4 and HPO#2-
| © HPO42-and PO43-

l Scientific Calculator e 4 \
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Question No. 24

Identify the substance that contains ionic bond.

© Kal
O Ne
Y CO
) HQO
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uestion No. 25

dentify the Bronsted-Lowry conjugate acid in the following reactior
H,0 + CO,” — HCO, + OH’

' HCO;
' H,0

7 OH"~
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Question Mo, 28

- Based on Lewas structures, the number of one gars of elections in the worter iolecuie

~
<
W e & N
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Question No. 27

' Themass percent compositionof oxygen in the acid H>SO;3 is:

O 653% [3
O 25%
O 58.5%
O 39.1%
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' Question No. 28

|
" Whatis the [OH"]in a solutionthathas a [Hjoj= 1x10°M?

©1x10°M
©1x10?M
Y 1x10°M
|'® 1x10"M

-~ |
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Question No. 31

How many grams of AICl; could be produced when 94.5 grams of Al completely react
with Cl, according to the reaction?

2A1+3Cl, — 2AICL

O 533¢g
O 133g
| © 399¢
| © 4679
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| Question No. 29

] o e s & e T Emm e o — X T 3 K L. . S R — o R - & = s A — - = ———— e —— —— a= =

| Organic compounds that contain a "benzene ring" are called compounds,

O saturated
O carboxylic
O cycloalkane
O aromatic
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Question No. 32

The conjupate base of H;SOy is

O HSOy
YOHSOy
Y H,S04
< ous
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. Question No. 33

- Give the direction of the reaction, if Kc >> 1

© Both directions are equally favored.
O The forward reaction is favored.

U The reverse reaction is favored.

U Neither direction is favored.
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Question No, 37 Wy L/ L/ P M
s & wms L sum adbamsasat inpmein.ssssasin. gl NUVHRTRUIPRUIRPRISRMRUES- | F N7 I TSR AVSIOU P PUSORIR. ..-m“».‘.,-‘.- B ssapsresssassnsas fl s -.--u----‘-u..-!-l-

. o

f

Determine the value of K¢ for ﬂ;e following reaction if the cquilihri 1m concentrations are
as follows: [NZ]G(I =1.5M, [:]‘1_2](;(1 = 1.1 M, INHS]QQ =0.47 M.
Ng(g) 4+ 3 Ha(g) + 2 NIH3(g) |

© 0.11
@35
© 028
© 91
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Question No. 36

—— —— e e R A

el il = oy - i

Choose the correct name for the following compound:
Br  CH,

CH,

© 2-bromo-2-methyltoluene

O 1-bromo-1,2-dimethylcyclohexane
O 1-bromo-1,2-dimethylbenzene

' 2-bromo-1,2-dimethyicyclohexane
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* What is the family of a compbund that has he following general formula?
e §
I

R—C—H

O ketone

O aidenyde

@ carboxylic acid
O ester
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Question No. 38

Which of the following is NOT a conjugate acid/base pair?

O H,S0; /SO3*
© HCl/Cl
© HNO;/NOy
'© HBr/Br

—— ——— == e e s
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Question No. 39

When the. substances in the equatidu below are at equilibrinm, at pressure P and temperature T,
the equilibrium can be shifted to favor the products by
CuO(s) + Hy(g) = Hy0(g) + Cu(s) + Heat

@ adding more CuO

O increasing the pressure.

@ decreasing the pressure.

© decreasing the tem'pe_rr-.luture

[ Scientific Calculator EISAD € 1
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Question No. 40

H g ey

e

What is 1he final molanty of I—I;SO.; soluhon, if 80mL of AM H,SO,4was dilutedtoa
final volumeof 1 1.?

@ 0.48 M
O 024M
O 032M
Q 040M

Scanned with CamScanner



| Total questions in exam: 40 | Answered: 0

B T Ta——

. Question No. 3

‘ B R S . . § -

. The following reaction is Emrhénﬂfc. Which of the following will drive the reaction to
the right (towards products)?
CH, (g) + 2 O, (g) = CO, (g) + 2 H,0 (g) + heat

' Anincreasein temperature
“ Anincrease of H,O
| “ TheremovalofCH,

~ A decreaseof CO,
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e

Question HNo. 2

What substance is the oxidizing agent in the following redox reaction?
Zn(s) — Cu~ (ag)— Zo (ag)—= Cu(s)

2 Zn2+
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Question No. 5

— —

What is the correct name of the following compound?
CHS— CiH - (.'IH:31

F

. Z—ﬁuorcpggpane
C ﬁ‘damprgp)-l

- 2-fluorobutane
1-luoropropans
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| Total questions in exam: 40 | Answered: 0

Question No. 6

Which of the following generic formulas is correctly representing a "saturated hydrocarbon™?

T — - ——— e e e

b *
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Question No. 4

What is the oxidation number of ironin Fe,0,?
3 -
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’:Juestion No.7
e molarity of this solution.

| I1f 5.0 moles of LiF are dissolved in enough water to make 2.5 L of solution, calcuiate th

O 10M
O20M
O25M
© 0.75M
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| Total questions in exam’ 40 | Answered: 40

Question No. 14

How many grams of AICI; could be produced when 1.5 moles of Cl; completely react

with aluminum according to the reaction?
2A1+ 3ClL; — 2AICkH

134 g
33349
® 26740
533 ¢
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Question o g

TVhatsuhﬁ

Ianffﬂiﬂx .

Zn 9+ 0 Zed in the “““‘fﬂl’rpd

— P s S Tedo,

Zn B2 (ag)+ L(s) X Teactjon»
Cu
Zn2+
Cu2+

Scanned with CamScanner



MKCL OES

| Total questions in exam: 40 | Answered: 40

~ Question No. 3

What is the coeﬁicien{; of oxygen gas after balancing the following equation?
__AgClO3(s) — _AgCl(s)+ __ Oa(g) |
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What 1 the type of the following alcohol?

H
I
ﬂ'll-ﬂ'lf-{i'.—ﬂlﬂl
H
s ATy
& PPy
U wrrenEy
 artary
Primary
T TS Ay
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Total questions in exam: 40 | Answered: 40

Question No. 6

gives a non-electrolyte when dissolved in water.

weak base
CEICI;;

HNO,
CL’!HZZOM
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Question No. 22

Suﬁdalumimmmﬂmnxygmmhnmbimﬁmmﬁmtommzm
4Al(s) + 302(z) — 2AL03(s)

Themaxhnummmtnfﬁiﬁﬂntmbepmdmedﬁomlﬁgumedlj gof

O2is 2

8 47

D74

Y 53

94
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Questiamr Na. 3%

A reaction witf an. equilibrivm: constant K. = I§ x: 105 would consist of: which af thefollowing at equilibrinm:

~ some reactants and products with reactants slightly favared:
* mainly reactants are favores
2 mainly products are favored:

'~ approximately equal reactants and products
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|
- Question No. 28

 Forthe following acid-basereaction; identif
| HCI+NaOH 2 7799+

O 1,0, acid
' NaOH, base

U NaCl, acid i
| " NaCl, water

Scanned with CamScanner



Tolal questions in exam. 40 Mngh'ered 32

Question No. 29

In the reaction below, what is the theoretical yield in grams for B:Hs when 5 moles of
BF; react with 4 moles of NaH?
SBF; + 6Nal — 6 NaBF4 + B:Hg

285g
950q

17.3g
1250
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| Total questions in exam: 40 | Answered: 5

' Question No. 21

" Determine the limiting reactant (LLR) and the theoretical yield (in g) of iron (I
' can be formed from 28.65 g Fe,O; and 10.0 g Al according to the following e
' Fe03 + 2A1 — ALO; + 2Fe

O Al 19.99 g Fe.

O Fey03,20.7 g Fe.
© Fey03, 19.99 g Fe.
O Al,20.7 g Fe.
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Question No. 29

What is the empirical formula of the compound thathasa compositionby mass 0f84.2%C
and 15.8% H? ' '

O C3;Hg

| © CsHio

(RO N
| © C3Hg

|

r
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an  cid-base reaclion?
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Question No. 39

When the temperature is decreased on the following system at equilibrium:
HClyy + Mgy & MgChey + Hyg + heal

Mone of these choices IS frue
the reaction shifts left to reslore equilibrium
the reacticn shifis nght to restore equitbrium

Mo change occurs

Scanned with CamScanner



Question No. 27

After a chemical reaction reaches equilibrium,

———
B T S

) The amount of products is increasing.
2 The amount of reactants and products are constant.
) The amount of products is decreasing.

"' The amount of reactants and products are equal.
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Question No. 24

' Refer to the equilibrium shown below. Adding excess oxygen will
CHy (g) + 202 (g) = CO2 (g) + 2H20 (g)

© have no effect
© cannot be determined. since the temperature is not known

L) shft the reaction 1o the night
' shift the reaction to the left

Save & Next 19, 5e
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Question No. 40

Refer to the equilibrium shown below. If the reaction volume is increased., this will
CHj(2) + 202 (g) = CO2 (g) + 2H20 (2)

canngl be determined, since the lemperature 18 unknown
shift the reachon to the night
have no effect

ol the reaction 1o the len

Scanned with CamScanner



Total questons in exam 40 | Answered 92

Question No. J§

Soutons that resest sharp changes i their pH values are called

dducts
erRCirmhles
non-ekectrohles

bulters

v & Next BB e
. i
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Question No. 37

[dentify the type of this organic compound:

O

PN

ketong
alcohal

carboxyhc acid
dldehyde

Scanned with CamScanner



MKCL OES

TDTE'IP-QUE-SIJGHS in exam 40 | Answered 32

Question No. JJ

Dinitrogen tetrmoxide decomposes to produce nitrogen dioxide. Caleulate the equilibrium
constant for the reaction given the equilibrium concentrafions at 100 °C;

[N,O,] = 0.60M and [NO,) = 1.00M.
N,O,(2) «* 2NO,(g)

Ke=1.67
Ke=2.00

Ke=0.625
Ke=0.500

cprgrrrrrr
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Question No. 32

venial s e motardy of a8 salubion made by u:x,;{;;‘;l'wng 2500 q af NaClm enouagh waler 1o make 625 mL of solution?

0634 M
0XEM
0479 M
CS26M
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Question No. J0

\Which of the following 1s true (f the hydionium lon concentration “increases” in an aqueous solufion?

pH decreases
pH increases

Kw increases

Ky decreases
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Question Na 'H

I

A chemical equation is balanced when :

© the total number of lons Is the same in re

actants and products
O the number of atoms of each elem

entis the same in reactants and products.
O the total number of molecule

S 15 the same in reactants and products
© the sum of the coeflicients of the reactants s equatto the sum of the COCHCK

Nts of the products
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Cuesbon No. 22

-

Which ssxtement about diluted solutions 5 Eake? When a solution 5 diuted,

O me numner of moles of solste remans unchanged
L the volume of solven! remans unchanged

U e concentration of the solution gdecreases

C e motarty of the soltion cecreases
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Questlon No. 34

——

‘ Which structure below represents a ketone?

| {"}

e
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Question No. 25

The most correct name for the compoundNI; is:

nitrogen triodide
moneniregen triodide

' nitrogen lodide

tniodo nitrogen
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Question No. 21

What is the coefficient of oxygen gas after balancing the following equation?

A
__HiO2()) —  HXO(h)+  02(g)

DN & XNy
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Question No. 24

What is the molecular formulaofa compoundthat has a molar mass 030 g/mol and its
empirical formulais CH,O?

CsHyOs
CH:0

CiHsOq4
C3H:0;4

i
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| Question No. 23

What is the [H,0"] in a solutionwith [OH ] = 1 x 10" M?

Cix10'M

0 k"

1x10°M
Yix10M
Cx10°M

Scanned with CamScanner



Question No. 2

9
What s the general term for @ substance dissoived in waler

U covalent substance
O aquecus sofution
O jonc san

) waler solution
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Wuesuw

For the reaction: Cgy + HiOgy 2 Haw + COy AH is positive (endothermic)
What would be the effect of removing H; gas from the reaction vessel?

O More water will be formed

' The reaction will shift to the lefl
' The reaction will shift to the nght
“J The reaction will not be affecled

La Chatelier's princple of concentration:
-if we add THE reaction shifts to the opposite side
- if we remove THE reaction will shift to the same side
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2Li + CI2 -> 2LiCl
Li: 2, Cl: 2

Save & Next A9, L

HP Compagq LEI7)]
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! What is the family of this organic compound?
[ CHJ'CHI'NHI
|

- O phenol

' O amine
© amide

O ether

| B R-NH2 OR C-NH2
| IT 1S AMINE
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I What is the TUPAC name for the folluwmg’? ' 4
1
|

CH;-LH:—CH—CHI*(IH—CHz—CHJ—CHg
CHa CH,y~CH>

|
- O 4.ethyl-6-methyloctane

O 3.ethyl-5-methyloctane
O Isooctane
@ 5.ethyl-3-methyloctane
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Question No., 11

In the “Basic™ solutions,

pH<7 and [H30%]> 10" M
pH=7 and [H:O*]=10"M
pH>7 and [H:O"]> 10" M
pH =7 and [H:0"] <107 M

D

1078 to 1074 are < 1077
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Question No. 17

In the reactionbelow, whatis the theoretical yield in moles for NO when 5 moles of
NH; react with 7 moles of O,?

4NH; + 50; — 4 NO +6 H:O

- 36 mol
2.4 mol
5.0 maol
4.8 mol

Scanned with CamScanner



| Ques: I =

W - : - ydroxide?
what 1s the chemical formula far magnesium hydro

| © MpOH2
@ mMgoH
O MgH2
© Mg(OH)2

Mg = +2 , OH = _1
D Mg(OH)2

[m\

Il T e—
e

- —
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ﬂuﬂ £
of NH3?
Wwhat 15 the cunjugﬂte acid

| @ NH;
@ NH:
Q NOs

@ NH¢'

' Conjugate acid is a base which accepts a proton
NH3 + H -> NH4+

HP Compaq LEI71]
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Cyclohexane

' Cyclopentane -

- Cyclooctane
cycloheptane
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’ Question Na. 3 R e SHELT T A

i' When the substances in the equation below are at equilibrium, at pressure P and temperature T.

' the equilibrium can be shifled to favor the products by
J CuO(s) + Hi(g) = H;O(g) + Cu(s)+ Heat
|
' © adding more CuO
O increasing the pressure
C gecreasng Ihe pressure
O gecreasing the temperature

In exotheremic reaction (heat is product)
when we remove heat the reaction will shift

to favor the products.
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Question No. 5

The molanty (M) of an aqueous solution containing 22.5 g of sucrose (C12H>2011) in

35 5 mL of solution 15

185
0 0657

0104

1-Grams to moles

moles = grams / moar mass = moles
A moles of Sugar = 22.5/ 342 = 0.065mol

2-find molarity:

M = moles / volume in (L)

M =0.065/0.035 (ml ->L)

M=1.85
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Question No, 7

The compound NHj can be described as

Bronsted-Lowry acid
Lrrhenius acid
Levas hase

Leswais acid
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Question MNo. 9

e

Calculate the volume [0 Mer) of 8 solulion that conlaing 3.12 moles of NaCl if the malary o this solston 15 6 67 M NaCl

£ B241
214710
0208 L

D AEB 1

Volume (L) = moles / molarity
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............

I B S A S A T S

'i What is the term for ihE‘l pairs of valence electrons that are not shared in a molecule?

. ) core electrons
' ponding electrons
"D lone pairs of electrons
‘2 sharing electrons
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! Question No. -

e s e O S — i T g ) — =

| What is the name of thé'fbllliawing a]ky'l"grnup: CHJ-—CHT-?
|
- O metnhyl

- O isopropy!
'O etnyl
' © propyl

CH3: methyl

CH3CH2: ethyl
CH3CH2CHZ2: propyl
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Question No. 23

" Which of the following molecular formulas corresponds to an "alkane"?

- CsHy,
- CsHq
- CsHy,
- CsHy,

kKane: CnhnH2n+2
kene: CnH2n
Kyne: CnH2n-2
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Question No. .

Lewls Ackl i3 detined a8

| © n proton acceptor |
® produces OH fons in an aqueous solution

@ an electron pair donor
© an electron pair acceplor

Lewis acid: acceptor
Lewis base: donor
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Question No. 24

What is the final molarity of H3;BO; solution, if 110mL of 4M H;BO;was dilutedtoa

final volumeof 0.31L7
< 1.78 M
O 147 M
213 M
O 1.9TM ]

M2 = M1V1/V2
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| Question No, 21

Whatis the TUPAC name for the following?

CH3y-CHy-CH ~ CH-CHj
| |
CHy CHay

~lsoheptane
- heplane
- 2. 3-dimethylpentane
- 2-methyl-3-methylpentane

C
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 Total questions in exam: 40 | Answered: 0

Question No. 13

Which of the fallowing compounds is an ester?

O
arecry
CH,CH-CCH,
0
CHyCH,CNH,
)
i Il
(..I.l.;(:l I:l:—{j_(:jil
0

CH.C—O1

| Save & Next gaa 0| Ester:

COOC

Scanned with CamScanner



Total questons i exam 40 | Answered 0

Question No. 14

What is the name of componid has the following peneral formula?
O
I
R

ol sy ekl

Ketones: R-CO-R
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' Question No. 22

The name of the chemical compound Cu,CO; is:

) copper(ll) carbonate
> copper(lll) carbonate
' copper(l) carbonate

' copper carbonate

C
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Question Ng. 13

T
hemolarmass ofCa(Oh’)g 15 equal to-

af a/'mo|
58 g/ma
?'1 ’r} m ol

JA 09/mao|

V
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Question No. 4

What is the IUPAC name for CH;-CH,-C=CH?

O 3-butyne
O 1-butyne
O 2-butyne
O butyne

B
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| Total questions In exam: 40 | Answered! 4

TVETHS
| |
slbbsssnonoinsianin

| Question No. 6
| Consider the following reaction at equilibrium. Adding more oxygen will
| 2502(g) + O0xg) +* 2803(x)
|
O shit the reaction to the right
" O have no effect
) shift the reaction to the left
© cannot be determined, since the temperature 1S unknown
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| Total questions [n exarn: 40 | Answered: 3 - .

| Question No. )

‘ If a saliva sample has a pH = 7.5, the solution is

O strongly acidic
) weakly basic

2 weakly acidic

O neutral

L_. m‘-i_; q“fn ]L.:Fa:‘-\.'.
SHELE _‘J___ﬂ_“___'l
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Question No. 2

How many moles of (NI11)28 are therein 75 of (NI4)287

1
19
34

15

J
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Question No. 2

Identify the functional group:

NH;

PPN

Amine
Amide

carboxyhc ackd

ke lone
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Question No. §

The name of the chemical compound Cul; is:

Copper(ill) wdide
L Copper(ill) odide

Copper(l) mdide

Copper wodde

e E e e s ———
[ SAVE & NEXT A8, --']
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¥ Question No. 4
:1..'-. s i - R
o

ia I an oxidation reduchon reaction, ihe oxidized subslance always

2, ‘.'ﬁ LEoshows foss of eleclions
: .
‘.',.- "j L oshowes gain of neuatrons
h'ﬂ‘:!‘ I

i LOves up hydiogen atoms

"shows gam of elections
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Question No. 7

The oxaidation number of phosphorus i PF3 1s

L)

-5
+5
-3
g

{ Tdfu_al questions lnpcxmn: 40 | Answered: 5
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Tolal questions in exam 40 | Answered 0

Question No. 5

Which of the changes listed below will shif the e
the following reversible reaction?

CHy(®) + H,0(g) + heat == CO@® + 3 Hy(g)

quilibrium position to the right for

A decrease of volume
A decrease of [CH,]

A decreaseel'tempemmre
A decrease of [CO)
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Question No. 1

Whatis thename of compound shown below?

“' benzene
' phenol
“' loluene

“oaniine
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Tolal questions In ex;_ah"l: 40 lnnswemd 12

Question No. 23

Which of the following symbols indicates a solid substance in a chemical equation?

(s)
h
(9)
\aq)
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Question No. 2

Which '
of the following expression symbols is used for quantifying acidity and basicity?

' aH
bH

v eH
' pH
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Total questions in exam 40 | Answered 0

Question No. 10

Dinitrogen tetraoxide decomposes to produce nitrogen dioxide. Calculate the equilibrium
constant for the reaction given the equilibrium concentrations at 100 °C:
[N,O,]=0.60M and [NO,]= 1.00 M.

N,Oug) < 2 NO,(g)

Kr = 2.00

K¢ =0.500

K(‘ =0.625

Ke=1.67
[ e
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Question No. 32

' What s the charge on Fe in FeO?

i) 2.

FeO =0
G i=

Fre-2=0
Fe =+2
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| Question No. 17

1 r - tution?
If 148.9 g of KCl are dissolved in enough water Lo make 4 L of solution, what is the malarity of this 50

O 05M
O 1.8 M
o 23M

20M
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Cuestion Mo, 35

When the following equation is balanced, the coefficient for (NO) will be _

NO(g) == Ni(g) + Oi(g)
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Total questians in exam: 40 | Answered 12

Question No. 20

Which of the following substances contains a nonpolar covalent bond?

H.Or
NaCl
NH,

N,

Diatomic molecule is nonpolar
forex: N2, O2, F2 ...etc
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Question No. 21

What is the final molarity of H;SO, solution. if 85 mL of 4M H;SO,was dilutedto a

final volumeof 0.5 1.7

052 M
060 M
D68 M
076 M
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| Question No, 30

Which of the following is a general property of an acidic solution?

©! tastes sour

“' turns Mmus paper to red
" pH s less than 7

- all are correct
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Question No. 28

What is the family of this organic compound?

0O
I
CH3;—CH»-C-H

U aidehyde
- ketene
- carboxylic acid

oesier

Aldehyde: R-CO-H
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Question No. 36
Calculate the mass percent composition of carbon in Fe(CO3)3?

12.3%
18.1%
22.7%
< 2T 1%
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Question No. 25

What is the molecular formulaofa compound that has a molar mass of68 g/mol and its
empirical formulais HO?

- HO
H:0s
H1O:
H>0y
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Sucrose is nonelectrolyte
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Question No. 26 .

\Which family of organic cempounds does NOT coniain a "carbonyl group, C=0"?

- ethers
- carboexylic acids
keiones

- aldehydes

A Ethers: C-O
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Question No. 33

Express the equilibrium constant for the following reaction.
KClO3(s) & KCIO(s) + O2(g)

" K=[03}1
x - [KCI0J[07)
[KCIO3]
K = [ KCIO3)
[KCIOJ[03]
- K=[03]

D
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- Total questions mexam 40 | Answered 9

Question No. 13

WWTeCh OF thet foBowmug pais of systemat names and common names is corectly matchng?

O tolpene © hydioay bensene
O oambne = ammobensene
Cacetylene = ethene

O ophenol = methyibenrene

methylbenzene = Toluene
Hydroxybenzene = Phenol
Aminobenzene = aniline
Aceylene = ethyne
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Question No. 3

Which one of the following is a Lewis base?

- BF;
AlCl;
NH,*
NH;
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Total questions in exam: 40 | Answered: 5

Question No. 34

What is the type of the following alcohol?

OH
CH;—?‘— CH;
CH,
' Secondary
Primary
Tertiary

Quaternary
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Total questions in exam 40 | Answered: 0

Question No. 7

Whic]} of the following is the electron dot formmla (Lewis struciure) for an alom of
strontium?

(a) Sr. (h) Sr. (c) -.’S:r: (d) 'ér:
(a)
()
(c)
(d)
|
Ee—
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Question No. 4

Name the following organic compound:

2,3-diethyl-1-hexene
4-etny1=3-r11eth~_.=lenehep'tane

2-elhy|-3~pmpyi-1-penrene
2,3-d|eth3-1-1-nex3«'ne
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Question No. 6 | a

What is the oxidation number of iron in Fex(SO4); ?

+5

[
[l
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Question No. 11

Which stiucture helow represents a ketane?
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Question No, 9

Provide the name of the compound below.

N

2. 3-dimethy)-4-hexene
2.3-dimethyl 5-hexene
4 5-dimethyl-2-hexene

4.5-dimethyl-3-hexene
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Cuestron Mg 17

Ihe following reacton s anotfernie. Which of the following will drive the reaction fo

theneh! (towards products)?

CH )+ 20, (g) e CO, (p) + 2 H,O (#) + heat
Ag increas=of HO
A decrenseof OO
Ao mereass i temperature

Ihe removal I."l.{'ll_
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Question No. 2

Predict which of the following compounds has an ionic bond,

o ATy Sl gL e A
- 5ave & INext ‘h}l‘u}_ﬁ;ﬁ":
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Question No. 32

The carbon skeleton of an alkane is shown below. How many hydrogen atoms are
bonded to the carbonmarked with a *?
s Dy

I r
e v B

(8]

o
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| Question No. 22
; Which of the following Is true if the pH of a salution changes from 2 to 57

[H]+ = [H30+]
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Question No. 37

How many moles and how many atoms of zinc {Zn) are in a sample weighing 34.9 g7

0.533 mol, 8.85 10 atoms
0.533 mol, 3.21 10> atoms
' 1.87 mol, 3.10 % 10~ atoms

- 1.87mol. 1.13 = 10 atoms
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Question No. 40

The conjugate base of H;SO, is

HSOy
H:50,
OH-
HSO,

D: HSO4-
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Identify the type of this organic compound:
0

' alcohol
O carboxylic acid
' aldehyde

L ketone
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~ Itthe stomach digestive juice has a pH = 2, this medium is

O strongly acidic
O neutral
O weaKly acidic

' weakly basic
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Question No. 34

" What 1s the type of the following alcohol?

OH
CH3—?I— CH;
CH,
' Secondary
Primary
Tertiary
Quaternary

C

If C atom bonded to:

1- 2H atoms and 1C then primary

2- 1H atoms and 2C then secondary
3- No H atom and 3C then teriary
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Total questions in exam: 40 | Answered: 0

Question No. 1

oride (SiCly) is treated with 20.0 g of water

In an experiment, 50.0 g of silicon tetrachl
balanced equation:

to produce silicon dioxide (Si0O») according to the following

SiClys) + 2H20q) — Si0y) + 4HClgg

The limiting reactant for the above experiment is:

SiCly
S10»
H,O

HCl
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Question No. 6

Which of the following solutions is the most basic?

[H307] = 1.0 » 1019 M
[OH| = 1.0 x 10-10 M
[OH] < 1.0 2 1010 M
[H:0°]> 1.0 ¥ 107 M
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Total questions in exam: 40 | Answered: 0

Question No. 1

What is the molecular formulaofa compound that has a molar mass of 116 g/mol and its
empirical formulais CoHs?

CegHis
CaHs

CsHao
CsHao

-
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Question No. 4

10 Man Cha

TACtarstic of all weak electrolvte solutions s that they

do not

CORAUCT electiicity

vampietely lonize in aqueous sOlutions

LUIRS0OVe In watel

WY ONEe I agqueous foltions
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Total questions in exam: 40 | Answered: 0
Question No. 5

The molarity (M) of an aqueous solution containing 22.5 g of sucrose (C1oH. 22011) n
35.5 mL of solution is



[
| Total questions in exam 40 | Answered: 0

Question No. 6

How many grams of CO; could be produced when 44 grams of CyH;COOH completely
react with oxygen gas according to the reaction?
CiH)COOH + 50; =+ 4CO; + 4H,0

a4 4
224
195 ¢
i g

—
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Total questions in exam: 40 | Answered: 0

Question No. 9

Calculate the volume (in liter) of a solution that contains 3.12 moles of NacCl if the molarity of this solution is 6 67 M NacCl

2823 L
2141 L
0.208 L

0.468 L

P o b |
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Question No. 15

Provide the name of the compound below.

2 3-dimethyl-1-hexene

2 3-dimethyl-2-hexene
4.5-dimethyl-5-hexene

4.5-dimethyl-6-hexene




|

Total questions in exam: 40 | Answered: 13

Question No. 12

The reaction for the decomposition of PCI; to chlorine and PCL, is shownbelow.
PCly (s) = PCl, (g) + Cl(g)

If the equilibrium concentrations are [PCL] = 1.0 M, [PCL,] = 1.0 M. [CL]=0.10M,

what is the value of the equilibrium constant?

Ke=1.0% 10°
Ke=1.0%107
Ke=1.0x10"
Ko=10x10"




Question No, 18

Consider the reaction: 2 80x(g) + Oxg) «» 2 804(g)

If, at equilibrium at a certain temperature, [SO,]

wht is the value of the equilibrium constant Keq?

014
694

6.7%9

B 6h L

1.50 M, [03]

0.120 M, and [SO3] =1.25 M,







Question No. 18

What is the correct systematic name of the following compound?
CHy

hvk L-heplyne
\ X\
X\
\ SN\
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Question No. 27

 After a chemical reaction reaches equilibrium,

' ) The amount of products is decreasing.

() The amount of products is increasing.
() The amount of reactants and products are constant.
) The amount of reactants and products are equal.
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Question No. § User BO400SIST

Consider the following reaction at equilibrium, decreasing the pressure will
2S02(g) + O2A8) + 2503(g)

Ba
=]
23

(E]ale] ]
5[5]2]=]-]
gaesR

i
2
1]
2]
=

4] )
(8] =] %] <)
(3]s v]5]




Question No. 26
The mass percent composition of sulfur in HaS is:
v
22 7%

94 1%
5.9%

31 ax\ao ,QL/ l//}
Val




IUPAC name of this com PO

pound?
CH,CH.
CH,;CH,CHCH,CHCH
CH-CH(
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Question No. 34

What is the correct equilibrium constant expression for the following reaction?

2 Cu(s) + 0x(g) — 2 CuO(s)

Keq = [CUO?/ [©2]

Keq = [CuOJ?/ [Cul?[O:]
Keq=1/[07]

Keq = [02]
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Question No. 22
The name of the chemical compound CuxCOs is:

copper(ll) carbonate
copper(lll) carbonate
copper(l) carbonate

copper carbonate












MKCL OES Chemistry_FT_Sem1

Total questions In exam:' 40 | Answered: 7

Question No. §

What is the chemical formula of the product formed by the reaction between aluminum and oxygen?

" AlO
ALO;
ALO;
Al;O

) 1
/A\\ [ — /‘\\903

@

Save & Next i, ks
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Question No. 38

What are the correct coetlicients needed to balance the reaction below?
NaHy + Ha0p — N2 T H20




Question No 38
Which of the following is the electron dot formula (Lewis structure) for an atom of
mmlm‘

@ 0* {b) O © -0 (d 0:




Question No. 13

Which of the following pairs of systematic names and common names s correctly matching?

© tolene = hydroxybenzene
© aniline = ammobenzene
© acetylene = ethene

© phenol = methylbenzene

 Save & Next




Question No. 12

Provide the name of the compound below.

@ methylcyclohexane
@ ethylcyclopentane
@ methylcyclopentane

© methylcyclopropane

Scientific Calculator

M
Mod | g\Deg | Rad M( N
sinh cosh | tanh Exp ( )
sinh' | [cosh'| tanh' | l0g,X In log [
n e n! log X ex 10* 1

$in tan XY X X 1
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.Class 49 @

B 550

B

‘auuuonno.a
The correct N __acd

© nydrogen promate
@ hydrogen bromine
@ nydrobromic

© nydrogen bromiie

: Question No- 4
Express the equilibrivm constant for the following reaction.
H2@® Bo® < 2 HB




o
.))
X

A +966 56 939 4701 >
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© bonding avirty
© Bond energy
© electronegatiy
© polarty
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Question No. 18

What is the molecular formulaofa compound that has a molar mass of 180 g/mol and its
empirical formulais CH;O?
< CHO;
= CqHsO4
CsHwOs
< CeHnOs
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Irmmfin_ No. 10
i‘ Accprdng to Broosted-Lowry deintion, wich icd 1§ incotrectly matcned wiih i conpigate base? (A 7 conjugite Base)
® HEOy /€05
© H;F* /HF
O HO' /O
@ Hel/cr




\

| Question No. 4

\

: What is the name of the following compound?

—

) 4-ethyl-4-hexene

) 3-methylenehexane
0 3-methyl-3-hexene
3-methyl-2-hexene




Total questions in exam: 40 | Answered: 18

Question No. 1

.
[}

An aqueous solution of S considered as st




[ Total questions in exam: 40 | Answered: 16

) Question No. 7

l Identify the Bronsted-Lowry conjugate acid in the following reaction.
| H,0 + €O," — HCO, + OH"

Y HO

© oH"

9 Heo,

&) 2-
CO,

Save & Next Ll




"
o

| © polar covalent bond ‘ | I ! I I i i I; g
@ |oni % A L |
lonic bond i T
© electrovalent bond

e
© nonpolar covalent bond £




| Total questions in exam: 40 | Answered: 17

Question No. 16

How many grams of NaCl are there in 55.0 mL of a 1.90 M aqueous solution of NaCI?

© 0.105
© 321
© 122
@ 611




Question No. 25

What is the molecular formulaofa compound that has a molar mass of68 g/mol and its
empirical formulais HO?

' HhO
H;O3
H404
H;O4




Question No. 28

What is the family of this organic compound?

(@)
Il

CH3-CH>-C-H

aldehyde
ketone
carboxylic acid
ester







i TotaTq_uesﬁcns in exam: 40 | Answered: 24

Question No. 36

If the reaction is endothermic, which of the following is always true?

© the reaction rate is fast

© the reaction takes in heat
© the reaction gives out heat
© the reaction rate is slow




Question No 22

Whath Of these Organs mPOUnds n

CyHy
CH;OH
CH,
CsHyp







| Total questions in exam: 40 | Answered: 12

Question No. 11

What mass (g) of NaBr is contained in 0.25 L of a sodium bromide solution that has a molarity of 1.20 M?

© 2329
© 3099
© 3739
© 4939




Total questions In exam. 40 | Answered: 12

Question No. 33

The oxidation number of 10dine in K104 18




Question No. 12

In the following reaction, whatis the effect on the direction of the reaction if more SO;
is added to the reaction mixture?

250, (g) + O, (g) = 2S0; (8)

®

The equilibrium shifts to produce more products
The rate of formation of products is increased

@

')

The position of the equilibrium remains unchanged

¥ The equilibrium shifts to produce more reactants







Question No. 27

Refer to the equilibrium shown below. Which of the following will shift the reaction to the
right?

1 CHy () + 202 (8) = CO2 (g) + 2H20 (2)

@ adding excess oxygen

@ increasing the pressure
& removing carbon dioxide as soon as it is formed
¥ adding O; and removing CO,
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| Total UESHONS In exam: 40 | Answered: 27 Ay

| Question No. 12

Calculate the mass percent composition o!'pjgjp_]ggginK,‘sPO.a.
i
1@ 302 %

®26.75%
0 55 3 o

Il
il

1 146%

>
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Total questions in exam 40 | Answered 27

Question No. 15

f
Provide the name of the campound below

L "

23 mmfsmyl»b—pemyne

34 dimethyl4-pantyn e
23 dimethyl-d-pentyr .

E

5]

¥ 34 —dcmeﬂlyl-z-pmm ne g
]

55 ]

E
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‘ Question No. 21

I How many moles of ces
IH

il

lum (Cs) are contained m 595 kg of césium?
e

26 % 103 moles Cs i i
i 9448 x 103 moles Cs iR
{901 104 moles Cs

|
1™02.23 x 102 moles Cs
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Tolalﬁg@}?ﬁns In exam: 40 | Answered: 27

| Question No. 23

| What is the coefficient of chlorine gas afte

r balancing the following equation?
Fe(s) + _ Cla(g) — FeCl3(s)

Save & Next 13, b



.

Total questions in exam: 40 | Answered: 27

Question No. 24

The reaction that requires thermaj energy to proceed is known as 3 reaction

© oxidation

b endolnem!p;
9 isothermic.

exotnqimc
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Total questions in exam: 40 | Answered: 27

Question No. 35

The combustion of ammonia in the presence of excess oxygen yields NO; and HyO:
4NH3(g) + 702(g) — 4 NO (8) + 6 HyO (g)

The combustion of 43.9 g of ammonia produces g of NO;.

439
w258

119

178




Che

red. 28
=

user Mc4078981

Total questons in exam A0 | Answe

Number of main Gt

Question NO 28
240mL of AM H,SO4Was dilutedtoa Number of questio

f H,5(¢ )".u\\lhun,if

is the final molarity o

What
f0.517

final volume 0

naeM

1920




Total questians In exam: 40 | Answered: 27

Question No. 20

In an oxidation-reduction reaction, the reduce

*d substance always

shows gain of electrons
takes on oxygen atoms
gives up hydrogen atoms

shows 10ss of electrons.
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Total questions in exam. 40 | Answered: 27

Question No. 26

The systematic name for the chemical com poundNa;S is:

< sodium sulfide
sodium(l) sulfide
sodium(il) sulfide
sodium monosulfige
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| Whatls the correct equilibrium constant expression for the foll !l
2 Cu(s) + Ox(g) — 2 Cuo(s)
¥ Ke = [CuOP/ [Cup[0,)
Keg = [03]
Keq = [CuOJ2/ [0,]

Kq:l/[Oﬂ










1
o LIS 21 , .
|
o IR
]

v ester
© aldehyde

o ketone

~ carboxylic acid










| @ Gwes more reactants
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| | mymhba mw“” rodu d Enl o 2 | 2N .
| with oxygen gas according to the reaction? _— mmmmﬁ

| C:H©O© +30; — 2C0O; + 3 H,0

© 12.04 x 10% molecule« |

“ 2 molecules.

© 24.08 x 10% molecules.
4 molecules.
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Total queshions In ecam 40 | Arowered 9

S— O

According to the Arrhenius defimtion, when H,50, 1s dissolved in water, it would act as

a base.

an acid.

a source of hydroxide ions
a proton acceptor.
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Total questions In exam: 40 | Answered: 14

Question No. 30

The coefficients (a.b.c.d) needed to balance the equationbelow are:
a Mg(OH); + b H;PO4 — ¢ Mgz(POy): +d HO

(3.1,1.6)
(3.1.2.6)
(3.2.1.6)
(3.2,26)
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2 Cu(s) + 0x(g) — 2 CuO(s)
¥ Ke = [CuOF/ [CuP[0;]
¥ Kq=[0y]
Keq = [CuO]/ [0;]
Keg=1/[03]
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. Question No. 9

Which of the foflowing compounds gives a strong etectrolyte aqueous solution?

* H2SO4
“ CHz:OH
- CsH 1206
CH,



Question No. 22

What is the conjugate acid of OH?




What is the family of this organic compound?

(4] .."hcr
@ radey
[~ TO R

Mbhovy e a0t









Ihe following struchure corresporxds to a alcohol



Tertiary





@ The reverse reaction & tavored
| @ The fotwad reaction i favored
I' I the temperature s ratsed. then the reverse reaction B favored
. ST \

| @ Nefner drection s favored.

f




Consider the reaction below al equilibrium. What effect will adding more H2S have on the system?

ZHS(R) + 3 02(g) + 2H20(g) + 2502(»)

. Tne reachon wil shift 10 the Girechon of product

o







Lvestion No a

VW OF The ToBOWma 5 rue it the piH ol a ihon changes from 5 o

| 1Y | moroases

| 1 ) decronses

\\\ N TUVAINY




Question No &

100 ¢ e contans mikos of F'eO




“ Question No, 17

In the following equation identify the Bremsted-Lowry acid:
NH, + HON — NH," + ON

@ CN

@ NH,

(@ HON |
@ NHS




Questhien No_ ¢







In the following reaction, what s the effect of adding more NO, to the starting

reaction mixture?
2NO, (B) = N,O,(8)

e the reachion morre exatharmi

creass e nal guanity of product
are gndoth2imi

resse the final guantity of product







Question No. 31

What s the IUPAC name for: CH;~CH,-CH,-CH,-CH,-CH,?







R m—




Question No. 35

What is the pame of this compound?

CH,CHQCH;C B

y cyclopenty! bulane

8 pIpoyicyt openianc

butyl CYCH hulane

MY Wy I,’ 1T

et
:




What is the equilibrium constant expression for the following reaction?
2CH,(g) ~02(g) & 2CO(g) - 4 H,(g)

K¢ =[CO] [H,] /[CH,] [O,]

® Ko =[COF [Hy]*/ [CH,J" [0,]

'H,][0,]/ [CO] [H,]

LI [0:]/[COT [Hy]
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Question No. 38

What is the name of compound has the following general formula?
O

R—C—R’




of this organts comapound

vl . e 1Y I




O
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Question No. 18

Determine the value of Re for the following reaction i the equilibeiun
as follows: [H2Jeq = 0.14 M, [I2)eq = 0.30 M, [Hijeq = 1.6 M

I concentrabon

H2(g) + I2(2) + 2 Hi(g)



} WAEBLNVN W.ve

I
1 ==

What is the [UPAC name for the following compound?

© 3-methyi-4-pentene
© 2-methyi-3-pentene

O 4-methwyi-3-pentene



Question No. 24

Refer to the reaction shown below. Increasing the
2H2S (R) + 302 () & 2502 (8 <H 20 (R

>iuft the reaction (o the en










Question No. 14

What is the molarity of FeCl, in a solution prepared by dissolving 10.0 g of FeCl, in
nough water 1o make 275 mL of solution?

0224 M

146X 10" M

LAOGM

224%x10'M




Sweszon N 4

h&anu‘:.ds&mﬁm&nrni&hxhulh:mﬂnmqw‘
Q032 (ag) + H2O (1) —+ HOO3 (aq) + 0" (aq)

@ Doser: Ot accegior: HOO3"

@ Dosor: O3 accaptes 20

% Dosor HzO: acceptor: 0032~

s Domor HOUT acceptor: OH-
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Question No. 20

ve the direch

ne verse reachion isi

Neither duwection is favored







Question Mo 17

What is the term for e substance thar relenses hy
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Achoress tuane
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Question No. 18

Express the equilibrium constant for the following reaction
PCI5 () = PCl3 (g) + Cl2 ()

«  [PCl3R(CIP
[PCl5)2




Question No. 16

[dentify the reducing agent m the chemical reaction
SFe*'(aq) + MnO« (aq) + 8H*(aq)—> SFe**(aq) + Mn**(aq) + 4H20(1)

) Fait
Fa't
MnOy
Mn?
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Question No. 3

3x 10"

'

%

6.02 x0 "

6.02 x 10°




| The empirical fo

rmulaofthe compound COis:









' Question No. 34
|

Name the following comp ound.
CH,CH,CH,CHj3
CH,CH,CC=CH

CH,CH,CH;

3-butyl-3-propyl-4-pentyne
( 3-ethyl-3-propyl-1-heptyne
5-ethyl-5-propyl-6-heptyne
3-butyl-3-propyl-1-pentyne



Question No. 35

What is the name of this compound?

CH,CH4

= ethyl cyclobutane
ethyl cyclohexane
ethyl cyclopentane
cycloethane




-
| Question No. 14

Which of the following compounds gives a strong electroiyte aqueous solution?

© NH;
HI
© CH:COOH
Wor : o




The two molecules repre

CHij<( Hy-0-( H)-CH, (.'H;-("H;-( H>
IS0mers
Jeometri ISOmers

ile Ntk =1

Some ro.d H‘Iac

Sented below gre €Xamples of

-CH>-OH




Question No. 31

' The formula for pentyne is

k;)‘ C5H12
O CsHyy
W CjHS
- CSHIO




Question No. 11

Give the name for PCl,.

€ phosphorus (ill) chloride
(> phosphorus trichloride
(O potassium trichloride

() phosphorus chiloride



question No. 20
which of thé following 1S correctly |denuhed7

NaOH, strong acid

HCl, weak acid
H,CO3: strong acid

NH,, weak base



b

yuestion No. 30
pounds?

r the alkene class of com

Nhat is the general molecular formula fo

@ CpH2nt2

© CpH2n-2
CnH2n-4
CnH2n







Question No. 6
the coefficient of OXygen gas after balancing the following equation?

What 1S
A
_AgClO3(s) — __AgC I(s) + M()p_(g)
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Question No. 21

CO, acts as a Lewis acid in thereaction CaO(s) + CO, —» CaCO4(s) because o AL,

) IS a proton donor
trns blue Htmus to red
reacts with a metal

Is an electron-pair acceptor



‘ Question No. 30

Which orthe ronowmg slalemems about
;

z-ukanes Is false,

alk ene




Sty Gy AR
J | |

B I
CH2CH; CH3

I [
CHy—CH~CH~CH-CH

| |
CH3 CH3
CHY-CH7 CHz
[ |

3

CH-CHS FH2

:fagk,-.q'._ Q= CH =CH —iZH2

CH2

CH2 ~CH=CH~CH ~CH ~CH3

I |
CHa=CH CH3—CH3







Question No. 22

Identify the conjugate acid in the following reversible reaction.
HF(aq) + HSO3(aq) < F-(aq) + H2SO3(aq)

© H;SOs(aq)
© HF(aq)

HSOs-(aq)
2 F-(aqg)













' Question No. 19

| Which of the following is truye before a reaction reaches chemical equiibriam?

! " @ The amount of reactants IS'decreasing

| © The amount of reactants ang Products are equal
@ The amount of féactants js jne reasing
© The amount of reactants

and products dare constant

—— Chemi



/ Questit?n_ No. 35

| St A e g A

What is the IUPAC name of this compound?

@ cyclopentane

<) cyclopropane

€ cyclobutane
) cyclohexane







Ne Hlserg 5 a

r‘)‘/‘h(.:,“h.
(

Catanq,




Question No. 17

| | The number of lone electron pairs in the N2 molecule is

@ 2
| @ 1
| ® 3
“y 5




" =7 't ” =
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.\"(l\\ A7
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Queation No. 17

Which of the foliowin

& ix the electron dot formmls (Tewis «
carbon?

sructure) for an atom of

(@) ¢ (®)-c> (©) ~C-

(1) :('.;:




Question No. 19

Which of the following IS true after a reaction reaches chemical eqmllbnum’?

The amount of products is increasing
. The amount of reactants and products are equal

) The amount of reactants IS ijncreasing
arits and products are constant

@ Theamount of react
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Question No. 30

Which or the r-:-nn.-..'ng stdlements SO0UL mKkane

' alkanes yre Saturated hyd:oc,ulx.m:;

alkaney COURIN & single bond
&lkanes capy be represented by the fo mula Cnj 1212

alkanes gra more reactive than the cmrcs;:vumimg alkene




| Question No. 37

Oxidation of an aldehyde produces a

@ ester.
O carboxylic acid.
() alcohol.

) ketone.




Question No. 34

What is the [UPAC name for the following compound?

N 7

6-chloro-1-pentyne
6-Chloro-1-hexyne
1-chloro-5-hexyne

6-chloro-2-pentyne
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L S . i . b o | vortadniiOtes S MBEMMe. il "

Chemistry_S

Question No. 21

In the reaction BF; + NH; — F;B :NH,;. BF, acts as:

a Lewis base
a L.ewis acid
an Arrhenius acid

an Arrhenius base




Question No. 15
According to the Arrhenius concept, if Ca(OH), were dissolvedin water, it would act as

an acid.
an electron pair acceptor.
a proton acceptor

a base




;[ Question No. 18
|

What is the equilibrium constant expression for the following reaction?
2 CH,(g) + O2(g) == 2 CO(g) + 4 Hy(2)

@ Ke=[CH,F [0,]/[COF [H,]*
© K¢ =[CH,][0,]/[CO][H,]
© Kc=[CO][H,]/[CH,] [O,]
“ Kc=[COY [H,]'/ [CH,] [0O,]
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Question No. 33
What is the IUPAC name for CH;-CH,-CH=CH,?

1-butene
3-butene
2-butene

butene




Question No. 17
In the Lowis structure for CHi, how many unshared pairs of electrons will carbon have?

@ 2
OO0
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Question No. 17

How many valence electrons are in a chiorine atom and a chioride lon™

7 and 8, respeclively
8 and 7, respectvely
10 and 18, respechvely

1 ang 3. respectively

ranstfaaiie




Question No. 20
"awsampaenasapﬂot

O neutral

) strongly acidic

O weakly acidic
weakly basic

7. the solution would De:



Question No. 19

What is the term for a substance that accepts a proton in an acid-base reaction?
Ll e

{-\(*
Arrhenius base
Brensted Lowry base
Bronsted-Lowry acid

Arrhenius acid




’ Question No. 19

e e

According to the following reaction,
H,0 + NH;

@ OH"
@ H,0
o NH3

. NH,

whic

— OH "+ NH,"

h moleculeis acting as & base?



Question No, 35

Provide the name of the compound below.

1-methyl-2-ethyicyclobutane
1-methyl-4-ethyleyclobutane
1-ethyl-2-methyicyclobutane

1-ethyl-4-methylcyclobutane




"I‘he‘most:c;orrect name for the compound CS 218:

@ carbon trisuinge

@ monocarbon disuifnide
| @ carbon sulnge
| @ carbon disulnge




Question No. 18

WWhat I 1he term or a type of reaction in which an acld and a base react to produce a salt and water?

O double replacement
O combination

O decomposition

@ neutralization




Question No. 16
-carbon bond?

which molecule contains the longest carbon

| @ F,C=CF,

@ H,C-CH,
@ H,C=CH,
O HC=CH




Question No., 22

In water solution. the ¢ onjugate base of HF is

H,0
OH-




Question No. 21

The compound NH; can be described as

Bronsted-Lowry acid
Lewis base
Lewis acid

Arrhenius acid




-
1

Question No. 1

m




Question No. 18

When a reaction is at equilibrium,

NO more reactants are converted to products.

the forward and reverse reactions Occur at the same rate.
the reaction is no longer reversible.

the whole reaction stops.




Question No. 13

In @ solution, the solute is

always a solid
always water
the substance present in the greatest amount

the substance present in the smallest amount




Question No. 13
How many liters of a 0.5 M NacCi solution contain 1.5 mole of NaCl?

@ 1561L

@ 033L

© 075L

@ 30L VL’




Question No. 11

The most correct name for the compound CClyis:

carbon trichloride
carbon tetrachloride
carbon dichloride

carbon chloride




Question No. 10

I'he mass percent composition of hydrogen in the sugar C¢H F 1s:

B

(ILRED*

=




Question No. 15

Which of the following is the strongest acid?

HNO;
H,COs3
NaOH
H.PO,




Question No. 12

What is the percent yield for a reaction if its theoretical yield is 65 g and its actual yield is 55 g?




Question No. 2

o

, Helum has ~___ valence electrons.




e — T S

detie o

@ isomers
© isotopes
O Indicators

) 1s0zymes



Proteins are polymers. They consist of monomer units which are

) amino acids
aldehvydes
ketones

amines




@ -ethyl-5-me '_:'f,'.fi-neﬁyne”“
| 0 4-etnyl-2 -methyl-5-hexyne
O 2-methyl-4-ethyl-5-hexyne

I

| | Save & Next A, ki



- The most correct name for the compoundPsS101s:

|
@ tetraphosphorus octasulfide
tetraphosphorus nonasutf[}
@ tetraphosphorus decasulfide
 (© triphosphorus decasulfide




o 4 AP
L] ‘«,‘:;\ ,".‘_

. s e o -
\ o Fagt s

i i
‘O

| @ 1-methylbutene
‘ () 3-pentene
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: Question No. 32

‘What is the [UPAC name of the following structure?

@ 1.1.33-tetramethylpentane
@ 2.2.5-trimethylhexane
© 24 4-trimethylhexane

| @ 33 5-trimethylhexane
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Question No. 16

All of the following compounds has a covalent bond except

AICl; \
BrF

IC]

HBr






() toluene




"

|
72000




Question No. 18

Which of the Tollowmng s rue before a reaction reaches chemical equiibrum?

@ The rate of the forward reaction is mcreasing, and the rale of the reverse reachion s decreasing
@ The rales of Ihe Torward and reverse reactions are decreasing

& The rale of the Torward reaction s decreasing, and the rate of the reverse reaction IS Increasng

@ The rales of the torward and reverse reaclions are increasing






Question No. 15

In a neutralization reaction

. @ an acid and a base react to form a salt and water.
;
- @ water and a salt react to form an acid and a base.

@ an acid and a salt react to form water and a base.

@ two acids react to form water.



Question No. 25

A process or reaction which absorb heat from the surroundings IS said {o be

exothermic
conservative

isothermal

endothermi




| Which of the following molecular formulas corresponds fo an alkene?

® C;Hyg
e C;Hy,
@ CHyg
@ CHp,



@ 2-ethyi-2-methyl-3-butyne
@ 3, 3-ammethyl-1-pentyne
© 3-ethyl-3-methyl-1-butyne
@ 1-butylethyne



| ‘l | (it
‘M 1; ’J il \M I ‘\ il

| Which of the following are Lewis bases?
)
il
11§ - 2T 0
| IV) NH3
I)and II)

@ 1), 1), and )
Iy and V)
1), 1) and 1V)



Question No,

ransfer of

2. gain of electrons

0 shanng of electrons
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Question No. 6

What is the coefficient of carbon di xide after balang

ZKH((‘)AI } }~_‘( O2z(sg) = H>O¢ ¢ CO(o
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. Question No. 9
d between sodium and fluorine Iis

The chemical formula of the compound forme

@ NaF
© NaF; N

NaF;



Question No. 8

The name of the Cu2* ionis

copper(Iil)
' copper
copper(l)
w copper(ll)
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. which of the TOlOWING

species has an oxigation number of zero?

@ O

@ Na!

v Mg
Al
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A chemical reaction has reached equilibnium when

the rate of the forward reaction equals the rate of the reverse reaction
all products have been removed from the reaction mixture
all reactants have been canverted 10 products

ine concentrations of reactants and products are equal



moles Hi.

' calculate the number of grams of HI present in 0.6

@ 37.79
» 5459
) 76.7'g

73.4 9



| Which ane af the following is characteristic of a base?

@ itturns litmus paper to red
@ itturns red litmus to hlue

| IL NAs 3 saur taste

It reacts with active metals




wWhat is the correct formuia for the iron(il) ion?

Fel~
Fel+

Fel*
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' Question No. 9

. Which of the following compounds gives a strong electrolyte agueous solution?

T HoSO;

RO
CsH120k6
CH4




Question No. 14

What is the molarity of FeCl, in a solution prepared by dissolving 10.0 g of FeCl, in
enough water to make 275 mL of solution?

0.224 M

4.46 X 10°M

446 M

2.24x10°*M




VWhich one of the following is FALSE about an "exathermic reaction"?

© Heat "g" is positive

@ The energy is released from the system

@ The surroundings gain thermal energy




Question No. 13




Question No. 4

Calculate the mass percent composition of potassium in K3P04




Question No. 8

I'he most correct name for the compound SCl, is:




I Wl “
el

[|
{ [I' l

{ :
¥ 1
What is the coefficient of Ix :
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Question No. 24

. eh R QS
thea voolizme 01 § » SVS 11 Wi

Refer to the reaction shown below. Increasing (e VOITEIC OF
2H2S (g) + 302 () & 2502 (R 21120

“
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Question No 17

1dentify the BronstedsLowry base in the followins reaction

I1.0) ('O H'O) Ol
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Question No. 40




Question No. 6

8.49 x 1024 i atoms
1.27 % 1022 Li atoms
5.90 x 1025 Li atoms

7.09 x 1021 i atoms



Question No. 2

in lonic compounds, __

metals; cations
nonmetals, cations

nonmetals, anions

metals; anions

lose t

heir valence electrons 10 form

positively charged :
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Question No. 15

S M solution of maanesium chiorice

What volume (mL.) of a concentrated solution of magnesium chionde (9.00 M) must be diluted to make 350 mL of 2

10
45 0

500




WO W WeR WIS FNWe VW

The number of CO» molecules that are produced from burning of 57.11 g of CgHis
(Molar mass = 114.22 g/mol) according to the following equation:
2 Cngg(l) + 25 Oz(g)—* 16 COZ(g) - 18 HO ® .

@ 2.41 x 10** molecules.
6.02 x 102 molecules.

8 molecules.

16 molecules.




What is the name of the following compound?

—

5
D
’:._*
?
%
l'[l
_JJ
(T

| 3-methyl-2-hexene

J-methyl-3-hexene




————

cquilibrium. What effect will adding more H2S have
ZH2S(R) + 3 02(g) + 2H20(g) +2502(g)

@ Tre reacton w st 10 the direction of Products
@ The equEDrum CONatart Wil INcrease

—— — =

on the system?

@ Tre reacton wil STt 10 the left

@ The equstrum contant wel decrease
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Question No. 27
M?

Whatis the [H,O Jina .\’ululummth[()H-l 1x10

IXx10°M
1x10°M
1x10°M

I x10°°M
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Question No. 35

Provide the name of the compound below.

methvicy lopropane
methvicvie w,‘;'t‘[”drif‘
ethyicyclopentane

methyicyclohexane



Question No. 9

Sugat

Strong bast

strong acid

weak base
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Question No. 5



L e

Question No. 11

What substance is oxidized in the following redox reaction?
Zn(s) + Cu:'(aq') = Zn:’(aq) + Cu(s)
Cu
n

Znl+

Cu2+
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Question No. 30

What is the IUPAC name for the following?
CH3~-CH;-CH-CH»-CHs,

¢ Hj ~CH+

J-ethylpentane
ISoheptane

2-ethy ipentane

epiane






Question No. 23

' Which of the following does not describe an acidic solution?

» The [OH ]is 1.OX 10-10.
' The pH is less than 7.
) The [OH ] is less than the [H30™].

The [OH]is 1 x 1074 M.







n




In the followmng reaction, winch reactant is a Brensted-Lowry harse
HCKag) + KHS(ag) » KClag) + H2Sag)




o ViWY 4G mobily ceeee

& drive.google.com




Question No. 20

Which of the changes listed below will
following reversibie reaction”’

\() ‘\:‘ ] ,‘\l "

Qs

smft the equilibrium p

* An mcrease of [SO. |

\ decrease of IIN( )

An mcrease of temperan

on









Question No. 36

What organic family does the following compound belong to?
0

- ’,\\ o “'L ’,///
- \I--' \T .

0 ame
L amine
L) carboxylic aca
“roether









Question No. 23

In an acidic solution, pHis

7,110 m
T, <1x10" M
<7.>1x10" M
“<T,<1x10"M




Question No. 30

wide the name of the compound below




Question No. 34

Name the following compound.

C=CH

CH,CH,CHCH,




vstion No. 39

me the following compound.
CH.CH=CHCHCH,

|

CH,



Question No. 32

What is the TUPAC name for the following compound?
CH,4
CHyCH;~CH = C—CH,




Question No. 31

Whatis the IUPAC name for: CH.~C1 1,-CH,CH,~CH,-CH,?
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Question No. 8

I'he most correct name for the compound SO; is:




Y



Question No. 36

'he molecular formula of ‘cyclohexane" is

T —————

CeH,,

-

CH
C4H

10

CéHﬁ




Question No. 42







Question No. 37

Identify the functional group:
i

carboxylic acid

Ketone

amide

damine

N




Question No. 38

Identify the functional group:

/\)NH;
ketone
amide

carboxylic acid

amine
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Question No. 39

What is the family of this organic compound?

v
CH3_C _O_CH3

R —
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Question No. 1

What is the«




Question No. 19

s 4 r '0">Q

he amoumt
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Question No. 23
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! Question No. 14

wWhich of the following compounds gives a strong electrolyte aqueous solution?

@ NH;
HI

© CH3;COOH
CeH 1,04




Question No. 31

The formula for pentyne is

'\;.i' C5H12
© CsHyy
) CSHS

© GsH,,




Question No. 22

Identify the conjugate acid in the following reversible reaction.
HF(aq) + HSOs(aq) < F-(aq) + H2SO3(aq)

© H2SO0s(aq)
' HF(aq)
HSOs-(aq)
F-(aq)




“ Question No. 37

Oxidation of an aldehyde produces a

@ ester.

() carboxylic acid.
() alcohol.

) ketone.




Kr Question No. 18

What is the equilibrium constant expression for the following reaction?
2CH,(g) t+02(8) == 2CO(g) + 4 Hy(g)

© Ke=[CH,J [0,]/[CcO} [H,]*
“ K¢ =[CH,][0,]/[CO] [H,]
© K¢ =[CO][H,]/[CH,] [O,]
“ K¢ =[COYF [H,]*/ [CH,) [0,]




Question No. 29

The chanae in enthalpy (AH) has n¢ agative value
he¢ nel A i ¢ \ ¢ en 1) ?i' rmi
{ ! / | | el exothe

The eneragy flows out of the system: exothermi

the

en end =14




Question No. 24

The change in enthalpy (AH) has negative v

The energy flows into the system
The energy is added to the system
The system is endothermic

The energy flows out of the system

alue means that ... S



Question No. 18

When a reaction is at equilibrium.

NO more reactants are converted to products.
the forward and reverse reactions occur at the same rate.
the reaction is no longer reversible

the whole reaction stops.




Question No. 15

Which of the following is the strongest acid?

HNO;
H,CO;
NaOH
H.PO,




© saturated
| @ aromatic
| ® carboxylic
| @ acidic

{ Organic compounds that contain a benzene ring or possess certain properties similar to those of benzene are called



Proteins are polymers. They consist of monomer units which are

O amino acids
aldehydes
ketones

amines




© 5-methyl-3-ethyl-1-hexyne
'O 4-ethyl-2-methyl-5-hexyne
© 2-methyl-4-ethyl-5-hexyne




PRt

lFbt a given process at constant pressure, AH Is negative. This means that the process s ___

i @ iunherqyg

© endothermic
' energy




“An '.dmm solution has a pH of 7.3. We would consider this solution 10 be:

\
"

| @ slightly basic
| @ siightly acidic
| | © very basic_
3 | @ very acidic

|
|




® saturated hydrocarbons.
© unsaturated hydrocarbons.
© alkenes.

© alkynes. =
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iestion: Pl
‘What is the term for a family of unsaturated hydrocarbon compounds having a double bond
Options:

= akynes
L aromatcs
 alkanes

l . akenes
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Options:

© alcohol
© amine
© amide
O ester
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Question No. 35

Provide the name of the compound below







Question No. 37

Which of the following compounds s an ester?

O
CHCH,C—0—CH,
O

i
CH:CH,ONH,




P et O

Question No. 27

an electron pair accepior
an electron pair donoi
Produces OH- 1ons 1n an aqui

a \1-\\:\\1X \‘\\.'\‘:‘.' :

.
£s B
5







Question No. 28

CO, acts as a Lew1s acid in the reaction CaO(s)+CO;, — CaCO-.(s) becauseil
turns biue litmus to red

reacts with a metal

is a proton donoil

IS al T"f:'—tfﬂ-:‘(]” ACCE 1\~

—————

Question No. 39

What Is the systemalic name suffix of carboxylic acia?

@ -oic acd
@ oate.

@ -al
@ -one
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[ Question No. 32

. What is the [IUPAC name of the following structure?

' O 1.1.3 3-tetramethylpentane

O 2.2.5-tnmethylhexane
O 2.4 4-tnmethylhexane

O 3. 3.5 tnmethyihexane

-






@ an acid and a base reactto form a salt and water.
| @ water and a salt react to form an acid and a base.
| @ an acid and a salt react to form water and a base.

@ two acids react to form water.
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~ Options:
- ©2-hexene
| ®1-hexene
:'_ o 3-heX8ﬂe i
O hexene 5
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